Purpose: to learn the lowest
limit of LVDS current below
omA for the safe operation.
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The entry of the "*_ch_property.root" is 3328 corresponding to the number of channel one half-ladder has (128 * 26). The entry of the "*_bad_ch.root" is given by the
number of channels that failed the first 4 bits check.

Channel profile [edit | edit source]

Each channel has it's own channel-property. It's just like the ID card. Currently the channel property has 8 digits, each digit represents one status of that channel.

1 => channel entry, it the channel entry is within the criteria range -> 1
10 => channel entry with an ampl cut, if the value is within the criteria range —> 1
100 —> threshold position, if the value is within the criteria range —> 1
1000 —> ampl| dist turn on width, if the value is within the criteria range —> 1

classification not considered) if the channel has only half entry -> 1
classification not considered) if entry < 10. -> 1

classification not considered) if entry is doubled —> 1

classification not considered) if entry > 1000. —> 1

1 0000 > channel half-entry indication
10 0000 -> empty channel indication
100 0000 -> double entry indication
1000 0000 —> Noisy channel indication

PR,

So for example, 00011100 -> If you see a channel with such profile, which means its threshold position and turn width are good, but the entry is only half -> It's a typical
half-entry channel.

Example 01001100, its threshold position and turn width are good but the channel entry is doubled, it's known due to the problem of the optic-coupler, for detail, please
check the INTT elog slot 20.

Example 10000000 -> Noisy channel
Example 00100000 -> empty channel or channel entry less than 10.
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This measurement was done in NWU before we
upgrade regulators for FPHX power on ROCs.
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The ch_property tree contains :

1 ch_property.root & tree

#Ladder name (direction included)

~ *Felix channel
#Port 1D
*chip_id

*chan_id
*ch_entry
*ch_entry_ampl_cut

*turn_on
° ree C roper
*profile (It's decimal (Integer). convert to binary in C++ std::bitset<8>(profile),

*adcO_width
*adc1_width

» 3 profile |& Half entryz&

g Channel profile [edit | edit source]
I = r ,_a— ;(‘ E Each channel has it's own channel-property. It's just like the ID card. Currently the channel property has 8 digits, each digit represents one status of that channel.

in Python3 bin(profile)), the introduction of the profile is shown above

1 -> channel entry, if the channel entry is within the criteria range -> 1
10 -> channel entry with an ampl cut, if the value is within the criteria range -> 1
100 -> threshold position, if the value is within the criteria range -> 1
- ~ \\ 1000 -> amp| dist turn on width, if the value is within the criteria range > 1
5 b \ \ — 1 0000 -> channel half-entry indication (classification not considered) if the channel has only half entry —> 1
. | n a r a 10 0000 -> empty channel indication (classification not considered) if entry < 10. -> 1
— 100 0000 -> double entry indication (classification not considered) if entry is doubled > 1
1000 0000 -> Noisy channel indication (classification not considered) if entry > 1000. > 1

AT Do

So for example, 00011100 -> If you see a channel with such profile, which means its threshold position and turn width are good, but the entry is only half -> It's a typical
half-entry channel.
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binary = std::bitset<8>(profile);

it (binary[4])

« S [AlZhalf entryd & & D &, {
— std: :cout <<"p="<<profile <<"chip="<<chip_id<<"chan="««
Tl’ee(/\_fI” L/ 71—:0 std::cout << "The 4th bit is 1." << std::endl;
std::cout <<binary <<std::endl;
LVDS = extractedDigitsl[number_of LVSD];
ladder = extractedDigits2[number of ladder];
harf=1;
ch=chan_id;

chip=chip_id;
tree->Fill();

}
}file2->Close();

}
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